o
=

—

of Alct

( 5(1/16) = (1/17)
MEHF MEHF MEHF MEHF MEHF
=2d =24d = =24d =24d
S01aH YR LAY SRR aotelys 417|932
opa  URSlEEerEd o A Y28 S n50jR2Y deNeRn2yzy
32U B2 22YB0RS 21 22UA28YuY =A12Y
St 722 OHs 22|23 22 32O
2|1 Y2/5EA |G|/ 812 2O/~ S | 2| Y3/ 2| Y3)/+EA
] Ao il ! aog
YOI XY= S7H0] %42 AR eAIE =R o224
slow  3usrSES Opf 23245 AP0 2 E|UURZRY H|QIIL}A A 2| E 2
A QB 2| D2 S0 RS Znzeyey BABERRFUY FREZSNUS
20223 Y OFA{ S2AH0| CHR2| TR g
7|3 27|43 25| 2713 2713
O Gt T A SREL2ERR O|EATLAE] BAHGYAY LA e k]
Simple  BolHAEy= _9E3 SyrngzE20/3 ADt= 23245011
275 2 YYZURASRLIID  BRUASYAY  UEHURYEY 0|l g=
B 20|22 CHR2|23 2282212 F2EH0| YL
27|43 27|43 27|43 27|43 27|43
HE| b} 2|2 0t0| AE] Yt R
k] il it naoj=es bl
ZYO| A2t EERAR S SHi7 | S B2 Jot2 2o BiFE7IRE YR
2 32|70 2Yojsgs FE0ISNY RS ~ a0l ES207|
= 1212 TEeYz AR =0 IE27 A RS
432742123 Paryo|2 2] 2|25 AB2n2YL2
27|93 BiZ 2 o] HLLY - 27|43




